# Note on some nonlinear integral inequalities in two independent variables on time scales and applications

#### K. Boukerrioua

University of Guelma. Guelma, Algeria. e-mail: khaledv2004@yahoo.fr

#### Abstract

Our aim in this note is to investigate some nonlinear integral inequalities in two independent variables on time scales. The inequalities given here can be used as handy tools to study the properties of certain partial dynamic equations on time scales.

Keywords: Dynamic equations, time scale, integral inequality.

Mathematics subject classification (2011): 26D15, 26D20, 39A12.

### 1 introduction

Motivated by the paper [1], many authors have extended some fundamental integral inequalities used in the theory of differential and integral equations on time scales.

In this paper, we investigate some nonlinear integral inequalities in two independent variables on time scales. The obtained inequalities can be used as important tools in the study of certain properties of partial dynamic equations on time scales.

#### 1.1 Preliminaries on time scales

In this section, we begin by giving some necessary materials for our study.

A time scale  $\mathbb{T}$  is an arbitrary nonempty closed subset of  $\mathbb{R}$  where  $\mathbb{R}$  is the set of real numbers. The forward jump operator  $\sigma$  on  $\mathbb{T}$  is defined by  $\sigma(t) := \inf\{s \in \mathbb{T} : s > t\} \in \mathbb{T}$  for all  $t \in \mathbb{T}$ . In this definition we put  $\inf(\emptyset) = \sup \mathbb{T}$ , where  $\emptyset$  is the empty set. If  $\sigma(t) > t$ , then we say that t is right-scattered. If

 $\sigma(t) = t$  and  $t < \sup \mathbb{T}$ , then we say that t is right-dense. The backward jump operator, left-scattered and left-dense points are defined in a similar way. The graininess  $\mu : \mathbb{T} \to [0, \infty)$  is defined by  $\mu(t) = \sigma(t) - t$ .

 $C_{rd}$  denotes the set of rd-continuous functions.  $\mathfrak{R}$  denotes the set of all regressive and rd—continuous functions.

We define the set of all positively regressive functions by

$$\mathfrak{R}^+ = \{ p \in \mathfrak{R} : 1 + \mu(t)p(t) > 0 \text{ for all } t \in \mathbb{T} \}.$$

Throughout this paper, we always assume that  $\mathbb{T}_1$  and  $\mathbb{T}_2$  are time scales,  $\Omega = \mathbb{T}_1 \times \mathbb{T}_2$  and we write  $x^{\Delta_t}(t,s)$  for the partial delta derivatives of x(t,s) with respect to t.

**Theorem 1.1.** If  $p \in \mathfrak{R}$  and fix  $t_0 \in \mathbb{T}$ , then the exponential function  $e_p(.,t_0)$  is for the unique solution of the initial value problem

$$x^{\Delta} = p(t)x, x(t_0) = 1 \text{ on } \mathbb{T}. \tag{1.1}$$

**Theorem 1.2.** If  $p \in \Re$  then

$$1-e_p(t,t) \equiv 1$$
 and  $e_0(t,s) \equiv 1$ ;  
2-If  $p \in \mathfrak{R}^+$  then  $e_p(t,t_0) > 0$  for all  $t \in \mathbb{T}$ .

Remark 1.3.: Clearly, the exponential function is given by

$$e_p(t,s) = e^{\int_s^t p(\eta)d\eta} \tag{1.2}$$

for  $s,t\in\mathbb{R}$  and  $p:\mathbb{R}\to\mathbb{R}$  is a continuous function if  $\mathbb{T}=\mathbb{R}$  .

# 2 Main result

Before giving our main results, we introduce The following lemmas which are useful in our main results.

**Lemma 2.1.** For  $x \in \mathbb{R}_+$ ,  $y \in \mathbb{R}_+$ , 1/p + 1/q = 1, with p > 1, we have,

$$x^{1/p}y^{1/q} \le x/p + y/q. \tag{2.1}$$

**Lemma 2.2.** :Assume that  $p \ge 1, a \ge 0$ . Then

$$a^{\frac{1}{p}} \le \frac{1}{p} K^{\frac{1-p}{p}} a + \frac{p-1}{p} K^{\frac{1}{p}}.$$
 (2.2)

for any K > 0

Proof.: see 
$$[6]$$
.

**Lemma 2.3.** Assume that  $a \ge 0, p \ge q \ge 0$  and  $p \ne 0$ , then

$$a^{\frac{q}{p}} \le \frac{q}{p} K^{\frac{q-p}{p}} a + \frac{p-q}{p} K^{\frac{q}{p}},$$
 (2.3)

for any K > 0.

*Proof.*: if q = 0, it is easy to see that inequality (2.3) holds. So we only prove inequality (2.3) holds in the case of q > 0.

Let  $b = \frac{p}{q}$ , then  $b \ge 1$  by Lemma 2.2, we obtain the result.

**Theorem 2.4.** (Comparison Theorem [1]) .Suppose  $u, b \in C_{rd}$ ,  $a \in \Re^+$  . if

 $u^{\Delta}(t) \le a(t)u(t) + b(t), t \in \mathbb{T}$ .

Then,

$$u(t) \le u(t_0)e_a(t,t_0) + \int_{t_0}^t e_a(t,\sigma(\eta))b(\eta)\Delta\eta , t \in \mathbb{T}.$$

Now we state the main results of this work.

**Theorem 2.5.** Let u(t,s), a(t,s), b(t,s) and  $h_i(t,s)(i=1,...n)$  are non-negative functions defined for  $t,s \in \Omega$  that are right-dense continuous for  $t,s \in \Omega$ . If there exists a series of positive real numbers  $p_1, p_2, ..., p_n$  such that  $p \geq p_i > 0, i = 1, 2, ..., n$ , then

$$u^{p}(t,s) \leq a(t,s) + b(t,s) \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{i=n} h_i(\tau,\eta) u^{p_i}(\tau,\eta) \Delta \eta \Delta \tau \text{ for } (t,s) \in \Omega ,$$
 (2.4)

implies

$$u(t,s) \le (a(t,s) + b(t,s)m(t,s)e_{y_{(.,s)}}(t,t_0))^{\frac{1}{p}},$$
(2.5)

where

$$m(t,s) = \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{s=n} h_i(\tau,\eta) (\frac{p_i}{p} a(\tau,\eta) + \frac{p-p_i}{p}) \Delta \eta \Delta \tau,$$
 (2.6)

$$y(t,s) = \int_{s_0}^{s} b(t,\eta) \sum_{i=1}^{i=n} \frac{p_i}{p} h_i(t,\eta) \Delta \eta, (t,s) \in \Omega.$$
 (2.7)

*Proof.* Define a function z(t,s) by

$$z(t,s) = \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{i=n} h_i(\tau, \eta) u^{p_i}(\tau, \eta) \Delta \eta \Delta \tau,$$
 (2.8)

then (2.4) can be written as

$$u^{p}(t,s) \le a(t,s) + b(t,s)z(t,s).$$
 (2.9)

From (2.9), by Lemma 2.1, we get

$$u^{p_i}(t,s) = (u^p(t,s))^{\frac{p_i}{p}} \le (a(t,s) + b(t,s)z(t,s))^{\frac{p_i}{p}} \le \frac{p_i}{p} (a(t,s) + b(t,s)z(t,s)) + \frac{p - p_i}{p},$$
(2.10)

It follows from (2.8) and (2.10) that

$$z(t,s) \leq \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{s=n} h_i(\tau,\eta) \left[ \frac{p_i}{p} (a(\tau,\eta) + b(\tau,\eta)z(\tau,\eta)) + \frac{p-p_i}{p} \right] \Delta \eta \Delta \tau,$$

$$= \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{s=n} (\frac{p_i}{p} h_i(\tau,\eta)b(\tau,\eta)z(\tau,\eta)) \Delta \eta \Delta \tau + m(t,s),$$

$$(2.11)$$

where 
$$m(t,s)$$
 is defined by (2.6).

Let  $\varepsilon > 0$  be given, and from (2.11), we obtain

$$\frac{z(t,s)}{m(t,s)+\varepsilon} \le 1 + \int_{t_0}^t \int_{s_0}^s \sum_{i=1}^{s=n} \left(\frac{p_i}{p} h_i(\tau,\eta) b(\tau,\eta) \frac{z(\tau,\eta)}{m(\tau,\eta)+\varepsilon}\right) \Delta \eta \Delta \tau, \qquad (2.12)$$

Define a function v(t,s) by

$$v(t,s) = 1 + \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{s} \left(\frac{p_i}{p} h_i(\tau, \eta) b(\tau, \eta) \frac{z(\tau, \eta)}{m(\tau, \eta) + \varepsilon}\right) \Delta \eta \Delta \tau \text{ for } (t, s) \in \Omega,$$
(2.13)

It follows from (2.12) and (2.13) that

$$z(t,s) \le (m(t,s) + \varepsilon)v(t,s). \tag{2.14}$$

From (2.13), a delta derivative with respect to t yields

$$v^{\Delta_{t}}(t,s) = \int_{s_{0}}^{s} \sum_{i=1}^{i=n} \left(\frac{p_{i}}{p} h_{i}(t,\eta) b(t,\eta) \frac{z(t,\eta)}{m(t,\eta) + \varepsilon}\right) \Delta \eta,$$

$$\leq \int_{s_{0}}^{s} \sum_{i=1}^{i=n} \left(\frac{p_{i}}{p} h_{i}(t,\eta) b(t,\eta) v(t,\eta) \Delta \eta\right) \leq \left(\int_{s_{0}}^{s} \sum_{i=1}^{i=n} \left(\frac{p_{i}}{p} h_{i}(t,\eta) b(t,\eta) \Delta \eta\right) v(t,s),$$

$$= y(t,s) v(t,s) \text{ for } (t,s) \in \Omega,$$

$$(2.15)$$

where y(t, s) is is defined by (2.7) with  $v(t_0, s) = 1$  and y(t, s) > 0. Using Theorem 2.4 from (2.15), we obtain

$$v(t,s) \le e_{y_{(..s)}}(t,t_0),(t,s) \in \Omega.$$
 (2.16)

It follows from (2.9), (2.14) and (2.16) that

$$u(t,s) \leq (a(t,s) + b(t,s)z(t,s))^{\frac{1}{p}},$$

$$\leq (a(t,s) + b(t,s)(m(t,s) + \varepsilon)v(t,s))^{\frac{1}{p}},$$

$$\leq (a(t,s) + b(t,s)(m(t,s) + \varepsilon)e_{y_{(\cdot,s)}}(t,t_0))^{\frac{1}{p}} \text{for } (t,s) \in \Omega.$$
(2.17)

Letting  $\varepsilon \to 0$  in (2.17) the Theorem is proved.

**Remark 2.6.** If we take n = 2,  $p \ge 1$  and  $p_1 = p$ ,  $p_2 = 1$ ,  $h_1 = g$  and  $h_2 = h$ , then the inequality established in Theorem 2.5 becomes the inequality given by in [7, Theorem 2.3].

**Theorem 2.7.** Assume that all assumptions of Theorem 2.5 hold. If a(t,s) > 0 and is nondecreasing for  $(t,s) \in \Omega$ , then

$$u^{p}(t,s) \leq a^{p}(t,s) + b(t,s) \int_{t_{0}}^{t} \int_{s_{0}}^{s} \sum_{i=1}^{s} h_{i}(\tau,\eta) u^{p_{i}}(\tau,\eta) \Delta \eta \Delta \tau \text{ for } (t,s) \in \Omega ,$$
(2.18)

implies

$$u(t,s) \le a(t,s)(1+b(t,s)n(t,s)e_{w_{(.,s)}}(t,t_0))^{\frac{1}{p}},$$
(2.19)

where

$$n(t,s) = \int_{t_0}^t \int_{s_0}^s \sum_{i=1}^{i=n''} H_i(\tau,\eta) \Delta \eta \Delta \tau, \qquad (2.20)$$

$$w(t,s) = \int_{s_0}^{s} b(t,\eta) \sum_{i=1}^{i=n''} \frac{p_i}{p} H_i(t,\eta) \Delta \eta,$$
 (2.21)

and

$$H_i(t,s) = h_i(t,s)a^{p_i-p}(t,s).$$
 (2.22)

*Proof.*: Nothing that a(t,s) > 0 is nondecreasing for  $(t,s) \in \Omega$ , from (2.18) we have

$$\left(\frac{u(t,s)}{a(t,s)}\right)^{p} \le 1 + b(t,s) \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{s=n} h_i(\tau,\eta) a(\tau,\eta)^{p_i-p} \left(\frac{u(\tau,\eta)}{a(\tau,\eta)}\right)^{p_i} \Delta \eta \Delta \tau. \quad (2.23)$$

By Theorem 2.5, and from (2.23), we easily obtain the result. This completes the proof of Theorem 2.7.

**Remark 2.8.** Letting n = 2,  $p \ge 1$  and  $p_1 = p$ ,  $p_2 = 1$ ,  $h_1 = g$  and  $h_2 = h$ , then the inequality established in Theorem 2.7 becomes the inequality given in [7, Theorem 2.5].

Now by using Lemmas 2.2 and 2.3, other estimates are established.

**Theorem 2.9.**: Assume that all assumptions of Theorem 2.5 hold, then

$$u^{p}(t,s) \leq a(t,s) + b(t,s) \int_{t_{0}}^{t} \int_{s_{0}}^{s} \sum_{i=1}^{s=n} h_{i}(\tau,\eta) u^{p_{i}}(\tau,\eta) \Delta \eta \Delta \tau \text{ for } (t,s) \in \Omega ,$$
(2.24)

implies

$$u(t,s) \le (a(t,s) + b(t,s)m^*(t,s)e_{y_{(,s)}^*}(t,t_0))^p,$$
(2.25)

where

$$m^*(t,s) = \int_{t_0}^t \int_{s_0}^s \sum_{i=1}^{i=n} h_i(\tau,\eta) \left(\frac{p_i}{p} K^{\frac{p_i-p}{p}} a(\tau,\eta) + \frac{p-p_i}{p} K^{\frac{p_i}{p}}\right) \Delta \eta \Delta \tau, \quad (2.26)$$

and

$$y^{*}(t,s) = \int_{s_{0}}^{s} \sum_{i=1}^{s=n} \frac{p_{i}}{p} K^{\frac{p_{i}-p}{p}} h_{i}(t,\eta) b(t,\tau) \Delta \eta, (t,s) \in \Omega,$$
 (2.27)

*Proof.* Define a function z(t,s) by

$$z(t,s) = \int_{t_0}^t \int_{s_0}^s \sum_{i=1}^{i=n} h_i(\tau,\eta) u^{p_i}(\tau,\eta) \Delta \eta \Delta \tau,$$

By Lemma 2.3, we get

$$u^{p_{i}}(t,s) = \left(u^{p}(t,s)\right)^{\frac{p_{i}}{p}} \leq \left(a(t,s) + b(t,s)z(t,s)\right)^{\frac{p_{i}}{p}}$$

$$\leq \frac{p_{i}}{p} K^{\frac{p_{i}-p}{p}}(a(t,s) + b(t,s)z(t,s)) + \frac{p-p_{i}}{p} K^{\frac{p_{i}}{p}},$$
(2.28)

from the proof of Theorem 2.5, we obtain the required inequality in (2.25) where  $m^*(t, s)$  is defined by (2.26) and  $y^*(t, s)$  is defined by (2.27)

**Theorem 2.10.** Assume that all assumptions of Theorem 2.5 hold. If a(t,s) > 0 is nondecreasing for  $(t,s) \in \Omega$ , then

$$u^{p}(t,s) \leq a^{p}(t,s) + b(t,s) \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{i=n} h_i(\tau,\eta) u^{p_i}(\tau,\eta) \Delta \eta \Delta \tau \text{ for } (t,s) \in \Omega,$$

implies

$$u(t,s) \le a(t,s) \left[ 1 + b(t,s)n^*(t,s)e_{w_{(\cdot,s)}^*}(t,t_0)^{\frac{1}{p}} \right],$$
 (2.29)

where

$$n^*(t,s) = \int_{t_0}^t \int_{s_0}^s \sum_{i=1}^{s-n} H_i(\tau,\eta) \left(\frac{p_i}{p} K^{\frac{p_i-p}{p}} + \frac{p-p_i}{p} K^{\frac{p_i}{p}}\right) \Delta \eta \Delta \tau \text{ for any } K > 0,$$
(2.30)

$$w^{*}(t,s) = \int_{s_{0}}^{s} \sum_{i=1}^{i=n''} \frac{p_{i}}{p} K^{\frac{p_{i}-p}{p}} H_{i}(t,\eta) b(t,\eta) \Delta \eta,$$

and

$$H_i(t,s) = h_i(t,s)a^{p_i-p}(t,s).$$

*Proof.*: The proof is similar to the proof given in theorem 2.7.

**Theorem 2.11.** : Assume that u(t,s), a(t,s) and b(t,s) are nonnegative functions defined for  $(t,s) \in \Omega$  that are right-dense continuous for  $(t,s) \in \Omega$ , and p > 1 is a real constant. If  $f: \Omega \times \mathbb{R}_+ \to \mathbb{R}_+$  is right-dense continuous on  $\Omega$  and continuous on  $\mathbb{R}_+$  such that

$$0 \le f(t, s, x) - f(t, s, y) \le h(t, s, y)(x - y), \tag{2.31}$$

for  $(t,s) \in \Omega$ ,  $x \geq y \geq 0$  where  $h: \Omega \times \mathbb{R}_+ \to \mathbb{R}_+$  is right-dense continuous on  $\Omega$  and continuous on  $\mathbb{R}_+$ , if

$$u^{p}(t,s) \le a(t,s) + b(t,s) \int_{t_0}^{t} \int_{s_0}^{s} f(\tau,\eta,u(\tau,\eta)) \Delta \eta \Delta \tau \text{ for } (t,s) \in \Omega, \quad (2.32)$$

then

$$u(t,s) \le (a(t,s) + b(t,s)l^*(t,s)e_{w_{(s)}^*}(t,t_0))^{\frac{1}{p}},$$
 (2.33)

where

$$l^{*}(t,s) = \int_{t_{0}}^{t} \int_{s_{0}}^{s} f(\tau,\eta, \frac{K^{\frac{1-p}{p}} a(\tau,\eta) + (p-1)K^{\frac{1}{p}}}{p}) \Delta \eta \Delta \tau, \qquad (2.34)$$

$$w^{*}(t,s) = \int_{0}^{s} h(t,\eta, \frac{K^{\frac{1-p}{p}}a(t,\eta) + (p-1)K^{\frac{1}{p}}}{p}) \frac{K^{\frac{1-p}{p}}b(t,\eta)}{p} \Delta \eta, \quad (2.35)$$

*Proof.*: Define a function z(t,s) by

$$z(t,s) = \int_{t_0}^t \int_{s_0}^s f(\tau, \eta, u(\tau, \eta)) \Delta \eta \Delta \tau \text{ for } (t, s) \in \Omega,$$

Fom (2.32), we have

$$u(t,s) \le (a(t,s) + b(t,s)z(t,s))^{\frac{1}{p}},$$

using Lemma 2.2, we obtain

$$u(t,s) \le \frac{1}{p} K^{\frac{1-p}{p}}(a(t,s) + b(t,s)z(t,s)) + \frac{p-1}{p} K^{\frac{1}{p}}$$

noting the assumptions on f, we have :

$$z(t,s) \leq \int_{t_0}^{t} \int_{s_0}^{s} \begin{bmatrix} f(\tau,\eta,\frac{K^{\frac{1-p}{p}}a(\tau,\eta)+(p-1)K^{\frac{1}{p}}}{p} + \frac{K^{\frac{1-p}{p}}b(\tau,\eta)z(\tau,\eta)}{p}) - \\ -f(\tau,\eta,\frac{K^{\frac{1-p}{p}}a(\tau,\eta)+(p-1)K^{\frac{1}{p}}}{p}) + \\ +f(\tau,\eta,\frac{K^{\frac{1-p}{p}}a(\tau,\eta)+(p-1)K^{\frac{1}{p}}}{p})\Delta\eta\Delta\tau, \end{bmatrix}$$

$$\leq l^*(t,s) + \int_{t_0}^t \int_{s_0}^s h(\tau,\eta, \frac{K^{\frac{1-p}{p}}a(\tau,\eta) + (p-1)K^{\frac{1}{p}}}{p}) \frac{K^{\frac{1-p}{p}}b(\tau,\eta)}{p} z(\tau,\eta) \Delta \eta \Delta \tau,$$

where  $l^*(t,s)$  is defined by (2.34) and is nonnegative, right-dense continuous, and nondecreasing for  $(t,s) \in \Omega$ . The remainder of the proof is similar to that of Theorem 2.5.

**Theorem 2.12.** : Assume that u(t,s), a(t,s) and b(t,s) are nonnegative functions defined for  $(t,s) \in \Omega$  that are right-dense continuous for  $(t,s) \in \Omega$ , and p > 1 is a real constant. If  $f: \Omega \times \mathbb{R}_+ \to \mathbb{R}_+$  is right-dense continuous on  $\Omega$  and continuous on  $\mathbb{R}_+$  such that

$$0 \le f(t, s, x) - f(t, s, y) \le h(t, s, y) \Phi^{-1}(x - y),$$

for  $(t,s) \in \Omega$ ,  $x \ge y \ge 0$  where  $h: \Omega \times \mathbb{R}_+ \to \mathbb{R}_+$  is right-dense continuous on  $\Omega$  and continuous on  $\mathbb{R}_+$ ,  $\Phi^{-1}$  is the inverse function of  $\Phi$ , and

$$\Phi^{-1}(x.y) \le \Phi^{-1}(x)\Phi^{-1}(y)$$
,

if

$$u^{p}(t,s) \leq a(t,s) + b(t,s)\Phi\left(\int_{t_0}^{t} \int_{s_0}^{s} f(\tau,\eta,u(\tau,\eta))\Delta\eta\Delta\tau\right) \text{ for } (t,s) \in \Omega, \quad (2.36)$$

then

$$u(t,s) \le \left\{ a(t,s) + b(t,s)\Phi(l^*(t,s)e_{w_{(.,s)}^*}(t,t_0)) \right\}^{\frac{1}{p}}, \tag{2.37}$$

where  $l^*(t, s)$  is define by (2.34) and

$$w^*(t,s) = \int_{s_0}^{s} h(t,\eta, \frac{K^{\frac{1-p}{p}}a(t,\eta) + (p-1)K^{\frac{1}{p}}}{p})\Phi^{-1}(\frac{K^{\frac{1-p}{p}}b(t,\eta)}{p})\Delta\eta.$$

*Proof.* :Define a function z(t,s) by

$$z(t,s) = \int_{t_0}^t \int_{s_0}^s f(\tau, \eta, u(\tau, \eta)) \Delta \eta \Delta \tau \text{ for } (t, s) \in \Omega,$$

$$u(t,s) \le (a(t,s) + b(t,s)\Phi(z(t,s)))^{\frac{1}{p}}$$

using Lemma 2.2, we obtain:

$$u(t,s) \le \frac{1}{p} K^{\frac{1-p}{p}} (a(t,s) + b(t,s)\Phi(z(t,s))) + \frac{p-1}{p} K^{\frac{1}{p}},$$

by the assumptions on f and  $\Phi$ , we have

$$z(t,s) \le l^*(t,s) +$$

$$+ \int_{t_0}^{t} \int_{s_0}^{s} h(\tau, \eta, \frac{\frac{1-p}{p}}{\frac{1}{p}} \frac{1}{a(\tau, \eta) + (p-1)K} \frac{1}{p}) \Phi^{-1}(\frac{\frac{1}{p}K}{\frac{1-p}{p}} \frac{1}{b(\tau, \eta)}) z(\tau, \eta) \Delta \eta \Delta \tau,$$

where  $l^*(t, s)$  is defined by (2.34). The remainder of the proof is similar to that of Theorem 2.5.

## 3 application:

In this section we give an application of Theorem 2.9. We Consider the following partial dynamic equation on time scales

$$(u^p(t,s))^{\Delta_t \Delta_s} = H(t,s,u(t,s)) + r(t,s) \text{ for } (t,s) \in \Omega$$
(3.1)

with the initial boundary conditions

$$u(t, s_0) = \alpha(t), u(t_0, s) = \beta(s), u(t_0, s_0) = \omega$$
 (3.2)

where  $H: \mathbb{T}_1 \times \mathbb{T}_2 \times \mathbb{R} \to \mathbb{R}$  is right-dense continuous on  $\Omega$  and continuous on  $\mathbb{R}$ ,  $r: \mathbb{T}_1 \times \mathbb{T}_2 \to \mathbb{R}$  is right-dense continuous on  $\Omega$ ,  $\alpha: \mathbb{T}_1 \to \mathbb{R}$  and  $\beta: \mathbb{T}_2 \to \mathbb{R}$  are right-dense continuous, and  $\omega \in \mathbb{R}$  is a constant.

Assume that

$$|H(t,s,u)| \le \sum_{i=1}^{i=n} h_i(t,s) |u|^{p_i},$$
 (3.3)

 $h_i(t,s)(i=1,...n)$  are nonnegative right-dense continuous functions defined for  $(t,s) \in \Omega$ .

If u(t,s) is a solution of (3.1), (3.2) then u(t,s) satisfies

$$|u(t,s)| \le \left\{ a(t,s) + m(t,s)e_{y(.s)}(t,t_0) \right\}^{\frac{1}{p}},\tag{3.4}$$

where

$$a(t,s) = |\alpha^{p}(t) + \beta^{p}(s) - \omega^{p}| + \int_{t_0}^{t} \int_{s_0}^{s} |r(\tau,\eta)| \, \Delta\eta \Delta\tau, \tag{3.5}$$

$$y(t,s) = \int_{s_0}^{s} \sum_{i=1}^{i=n''} \frac{p_i}{p} K^{\frac{p_i - p}{p}} h_i(t,\eta) \Delta \eta, \text{ for } (t,s) \in \Omega,$$
 (3.6)

and

$$m(t,s) = \int_{t_0}^{t} \int_{s_0}^{s} \sum_{i=1}^{s=n} h_i(\tau,\eta) \left(\frac{p_i}{p} K^{\frac{p_i-p}{p}} a(\tau,\eta) + \frac{p-p_i}{p} K^{\frac{p_i}{p}}\right) \Delta \eta \Delta \tau,$$

*Proof.*: the solution of (3.1),(3.2) satisfies:

$$u^{p}(t,s) = \alpha^{p}(t) + \beta^{p}(s) - \omega^{p} + \int_{t_{0}}^{t} \int_{s_{0}}^{s} H(\tau, \eta, u(\tau, \eta)) \Delta \eta \Delta \tau + \int_{t_{0}}^{t} \int_{s_{0}}^{s} r(\tau, \eta) \Delta \eta \Delta \tau$$

Therefore,

$$|u^p(t,s)| \le a(t,s) + \int_{t_0}^t \int_{0}^s h_i(\tau,\eta) |u^{p_i}(\tau,\eta)| \Delta \eta \Delta \tau.$$

Applying theorem 2.9, we easily obtain (3.4).

### 4 Open problem

In this work, we have established some nonlinear integral inequalities in two independent variables on time scales. The inequalities given here can be used as handy tools to study the properties of certain partial dynamic equations on time scales, for example the partial dynamic equation on time scales (3.1) - (3.2).

It will be interesting to estimate the solution of (3.1) - (3.2) in the cases  $p_{\star} = \min\{p_i, i = 1, ...n\} \leq p < p^{\star} = \max\{p_i, i = 1, ...n\}$  and  $p < p_{\star}$ .

### References

[1] M. Bohner and A. Peterson, Dynamic Equations on Time Scales: An Introduction with Applications, Birkhäuser, Boston, Mass, USA, 2001.

- [2] M. Bohner and A. Peterson, Eds., Advances in Dynamic Equations on Time Scales, Birkhäuser, Boston, Mass, USA, 2003.
- [3] K. Boukerrioua and A.Guezane-Lakoud, Some nonlinear integral inequalities arising in differential equations, EJDE, Vol 2008 (2008), No.80, pp.1–6. http://ejde.math.txstate.
- [4] S. Hilger, Ein Ma  $\beta$  kettenkalk" ul mit Anwendung auf Zentrumsmannig-faltigkeiten, PhD thesis, Universität. Würzburg (1988).
- [5] S. Hilger, Analysis on measure chains—a unified approach to continuous and discrete calculus, Results Math., 18 (1990), 18–56.
- [6] W.N.Li,M.A .Han,F. W. Meng,some new delay integral inequalities and their applications.J. Comput. Appl. Math.180(2005)191-200.
- [7] Wei Nian Li, Nonlinear Integral Inequalities in Two Independent Variables on Time Scales. Advances in Difference Equations Volume 2011, Article ID 283926, 11 pages
- [8] F. C. Jiang, F. W. Meng, Explicit bounds on some new nonlinear integral inequalities. J. Comput. Appl. Math. 205, (2007). 479-486.
- [9] B.G. Pachpatte, On Some New Inequalities Related To Certain Inequality Arising In The theory of Differential Equations. JMAA251, 736-751, 2000.